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) MATHEMATICS (9™
Time Allowed : 3 Hrs (Fresh / Re-appear) ' - Total Marks : 75
(Question Paper 3)

There are THREE scctions in this paper i A, B & C. Attempt scction A and return it to the
superintendent within the given time. ‘

Time: 20 Min ~ SECTION -A Marks; 15

Q.Ne.1: You have Tour choices for each objective type qucstion as ®, ®, © and ®. The choice which you think

L , - . Ceada
i. ‘The simplified form ol (‘33)3 is

is correet fill that circle in tront of the question number, Use marker or pen to fill the circles. Cutting or
* Milling two or more circles will result in zero mark in that question,

o ' W g8 : O o . o ab
i, ICA is o square matrix and A''= <A, then A is calted matrix.
@W - Symmenic - @ Skcw-s.ymmctric © Scalar ' ' ) Identity
fi. Conjugate of 31 /5 is; '
® 3.5 @ 3¢5 © —34v8 e _1 -
o . 3+5

iv. &'+ mx + a1 is a polynomial of degrec; .
W One ' ® Two ' © ‘Zcro ' ©® Three
v, L.CM of (a®-bY and (a*-b?) is;
® ol @ ol b © ab ©® atb
vi.  The point (=3,+4) is localed in; ‘ _
W Ist quudrum' @ IInd quadeant ® lilrd quadrant T 1Vih quadrant
vii, I the diagonals Lri'cm:ull'ilulﬂ'ill divides the figure into four congrucni lriunglbs;, then the quadrilateral is a;
a Trapezium @ Parallelogram ' - © Rectlangle @® Square
viii.  “T'wao sides of a right angle lrialrlglc are 3 cm and 4 em. Length of its hypolenuse is
W 6em & 5cm ' © dem : @ 3cm
- 3 w0y S © 27 © . 8t
X ogg, x= -_5 Jdhena = o
w1 a6 o1 D 8

32 ' ' 8
xi. ICath =1 and a+b = 3; then (@* - b%) = -
7. YRR B : @ 3 ' @ -3 : o 2
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it The solution set |=x]| =0 is;
® ' @ {1} Oy S e
xive  In AADBC il L. A 2 L DB, then biseetor of ‘ divides the AABC into 1wo congruent zlilglcs.
W LA , @ LB & LC o Any one of' its angle

XV.

Perpendicular drawn lrom any vertex of a (riangle to its oppusite side is called
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L . MATHEMATICS (9" ' :
Time allowed: 2:40 Ilrs - (Fresh/ Rc’-‘épp'e'?sir): o Marks : 60
Lo _ bLC'llON-B&C
Note: Allempf section B & C accordingly, -

SECTION -B - Maiks: 36
Q.No 2. Atterpt an 1y NINI' purts of thefollowing. All parts carry equal marks.
i Ir A l g 1] aind 13 = [ 1] then show that AB = BA '
TR TN, B, v {,2=2/2 :m/_ then find @21+ 2 (b)... -z3
ars b 4
i, §||}1pl|ly ﬁiﬁ%‘-—%}lﬂ- mlh the help of logarithm. |
iv. Find the valye of abt+betea , when a? +b*+¢? = 56 and a+b+c = 12.
v. - Find the product Ql‘(gm )( 2 pey 2. prriea )
vi, lauunz,u. x(x+ l)(JH 2) (.x+3)+l
vii..  Without purformlm, dmsmn fird the value of “a” , whcn (Zx’-a.x ax+3x+_2) is
-exactly divisible by (x+ 1)
vili..  Find the L.C.M of (2’ = 5x¥+d)and (x*-16x+24).
o ~b* | a*rabh+bt .- )
ix. bunphly P )
X. Find the solution scts of |5x — 13| + 2 = 14,
X, Draw the graph ol the equation x+2y=4, 7
xii. = Find the value of a*+b? and ab.when a+b=11 and a-b'=6.
-
. SECTION -C Marks: 24
. Note:  Attempt any THREE of the following, All que.mon.s carry equal marks.
Q.No 3. Shuw by meuns of distinice formula, that the points A(-1,4) , B(l 2), C(3 ) and D(1,6)
from a square. Also verily that the diagonals have cqual length.
Q.Nd 4, Any -g::uinl eqquidistant from lh¢ end points of a line scgment is on the right bisector of it.
Q.Nu 5. Show that the sum of the lcngths of any wo sides of a triangle is greater than the length of
 the thind side.
’Q.Nu 6. Drawa quadrilateral ABCD; such that mAB = 3em and m<B = 60° m<A=110° , mBC=3.5

~ cm und mAD= 4 cm, Conslruct & triangle ‘équal in arca to the quadrilateral ABCD.



